A & 0l & At H A M

e
DEX UAMHIA HZT
IIE2HSSAIR X2 (E42): )

S - B SRI(BA) - NRAY - BES il &k p[EL" HimEST
1,190,443 1,102,833 87,610
= 183,115 154,612 28,503
£ 10,000 0 10,000
o= 36,100 40,250 24,150
= 961,228 907,971 53,257
= QIRAAEIA M3 270,964 241,303 29,661
= 25,215 24,612 603
= 245,749 216,691 29,058
FZHSEAMR XA 15,215 14,612 603
= 15,215 14,612 603
IIEZHSEAMR 15,215 14,612 603
= 15,215 14,612 603
201 LBH2AL| 7,607 7,147 460
= 7,607 7,147 460
01 AtR2telt| 7,607 7,147 460
Oge=gH(H8A) 7,607 7,147 460
DIEBAHSZ=YR NREE 7Y
3,647,000 3,647 3,187 460
= 3,647 3,187 460
202 (44| 7,608 7,465 143
= 7,608 7,465 143
01 =LHOIYI 7,608 7,465 143
OIIIESZHEEARX S (HEH) 7,608,000 7,608 7,465 143
= 7,608 7,465 143
=&l QIR M< 71,350 42,292 29,058
S MHIA F=& 71,350 42,292 29,058
101 I244| 0 5,422 Nb,422
M IRHHZ2Z2NSES 0 5,422 N5, 422
Ol| 0 5,422 N5, 422
OSEEESAX JAISH SR 2L 22|
0& 0 5,422 Ab,422
201 LBH2AL| 22,950 18,470 4,480
01 AtR2teltl 21,950 17,470 4,480
Oget==2H| 12,070 10,070 2,000
(SHEELMK S BISEMEZA EDs2
oA 0 7,000 A7,000
0SYNEAK LASH 222 M
6002 15,0005 9,000 0 9,000
O HEl?de 23 2,480 0 2,480
oMoltE & EHEX(M) 7
22,0003 408t A 880 0 880
oaloXtz2 A ME ZelE)| EH 7
800,000& *2CH*13] 1,600 1,600
206 M= 4| 7,000 0 7,000
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SA:

0|
ol
2 A UAMHIA B
NOX
|/

=aa b Hol IR Al M (2l &)
SH - B SRA(S1) - HRAY - BES il &y plE-L! HlRS2
01 =8l 7,000 0 7,000
OFESHEHAX(SKIL LKl S) Moo S=57
M=8l 7,000 0 7,000
FAZ 2 HE 7Y 20,000&+2002 4,000 0 4,000
o2 s 2 300, 0002 *10m 3,000 0 3,000
401 AlEHILSOHY] 23,000 0 23,000
01 Al&HI 23,000 0 23,000
OSHOIX (X, 4K S) etz SI=7
ZHI 23,000 0 23,000
0xZ 32! 700, 0003 *2CH+ 10 14,000 0 14,000
2= 450, 0003 *2CH+ 10 9,000 0 9,000
=& A4 2 2¥ 65,505 69,735 24,230
A=0IAAMHIA MBS 65,505 69,735 24,230
LHARlE A=0E MEIAKNIS 65,505 69,735 24,230
207 AN 17,770 22,000 24,230
01 H1E4d| 17,770 22,000 24,230
OFAE=SUE Hitst 17,770,000& 17,770 22,000 24,230
EXNEERE 22 808,954 747,195 61,759
= 157,900 130,000 27,900
£ 10,000 0 10,000
o= 36,100 40,250 A4,150
= 604,954 576,945 28,009
dlglgt= XIHLIRMEIA KA 157,482 143,642 13,840
PAESTRILC T NESFE Lo mSEal 157,482 143,642 13,840
201 LeH=2E| 106,020 96,580 9,440
01 At2teld| 103,530 94,090 9,440
Oget===H| 98,930 90, 130 8,800
OXNIEIIEE SEEA =2 34,800 26,000 8,800
o NHEZHE 12,0002 +2,900& 34,800 26,000 8,800
O=2H(XIHYRFE) 8,000&%501x804! 3,200 2,500 640
202 Oid| 17,000 12,600 4,400
01 U AL 17,000 12,600 4,400
OOH|(XIZRIRAAR,3)  200,0002+501x 123 12,000 9,600 2,400
OOHI(SZZAL L JIEE SEXA
100,000& 521102 5,000 3,000 2,000
NETHEAL 2tel 156,356 120,370 35,986
= 27,900 0 27,900
o= 2,100 14,250 A12,150
= 126,356 106, 120 20,236
NETHEAL 2tel 123,143 83,120 40,023
201 LBH2AL| 72,943 32,920 40,023
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SA:

g EXEEANE 22
=l KIETHZAF 2t (&9 &)
2A - - HA(ZH) - MIRA - BES Ofl &kl 1N HusZ
01 AF22teld] 70,003 29,980 40,023
OgBt=24| 64,463 24,440 40,023
ONIHISZKIH HEr 45,463 10,440 35,023
ONIHEXIA HE =5 (XI)
74,8003 %1102 8,228 730 7,498
ONIHEXIA HE =5 (55H)
106, 7003 x250=2 26,675 9,450 17,225
0 NFESEE £ ===
52,800&200& 10,560 260 10,300
OXIZTHAAFAL I8t =8
50,0003 1002 X 5,000 0 5,000
UNES Y 11,000 0 11,000
= 9,000 0 9,000
= 2,000 0 2,000
101 21244 11,000 0 11,000
= 9,000 0 9,000
= 2,000 0 2,000
04 JIZN2Z2XSE+ 11,000 0 11,000
OXI=ze| JFMeIAHI( 88 H)
11,000,000& 11,000 0 11,000
= 9,000 0 9,000
= 2,000 0 2,000
KIETHEAALY =& 22,213 23,000 NT87
= 18,900 0 18,900
< 2,100 0 2,100
= 1,213 23,000 N21,787
308 AXIEHHISOIE 22,213 23,000 NT87
= 18,900 0 18,900
< 2,100 0 2,100
= 1,213 23,000 N21,787
10 SV 2SS0t et & A A 22,213 23,000 NT87
OgBt=24| 22,213 23,000 NT87
OXI B THZAL S&HI 174, 9003 x 1272 X 22,213 23,000 NT87
= 18,900 0 18,900
< 2,100 0 2,100
= 1,213 23,000 N21,787
NHETHEA H2018 26 At 0 14,250 N14,250
< 0 14,250 N14,250
101 21244 0 14,250 N14,250
< 0 14,250 N14,250
04 JI2HHI22XNSE 0 14,250 N14,250
OXIETHEAL H2013 kg Aty 2124H](2Y) 0 14,250 N14,250
0J=s = 0 9,639 N9,639
< 0 9,639 N9,639
0= = 0 3,012 A3,012
< 0 3,012 A3,012
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A QI
Mz EXH
Xl

o
chel:

2N -3 - AA(3) - HRAY - BES Ofl &kl J|1EH Hws2
UEEE = 0 1,59 1,509
= 0 1,59 A1,59
2L 22 495,116 483,183 11,933
2 130,000 130,000 0
= 10,000 0 10,000
= 34,000 26,000 8,000
z 321,116 327,183 £6,067
c2Y =i 206,754 212,821 £6,067
403 RXISHHISXHZ0I & 2,490 3,557 A1,067
02 DI HSHHE =R A 2,490 3,657 A1,067
OZ2YFL JIBE SASLAI
2,490,002 2,490 3,557 A1,067
405 TS| 34,000 39,000 £5,000
01 AHIQLEZF S| 34,000 39,000 5,000
OSSNTE STAALY PEAI
34,000,002 34,000 39,000 £5,000
TRAEES oHINES A3 8,000 0 8,000
= 8,000 0 8,000
401 AIEBIL Y| 8,000 0 8,000
= 8,000 0 8,000
01 AIZH 8,000 0 8,000
OS2YZ4 HHALES SXI(LBH)
2074+400, 0002 8,000 0 8,000
= 8,000 0 8,000
PHNST2HTZALY 10,000 0 0,000
= 10,000 0 10,000
401 AIEBIL LY 10,000 0 10,000
= 10,000 0 10,000
01 AIZH 10,000 0 0,000
ORENE T2HT 5 (L2F)
10,000, 0002 10,000 0 10,000
= 10,000 0 10,000
W= (212D 420 0 420
EEES 420 0 420
Px3 BE2 420 0 420
802 BI&20IE} 420 0 420
01 2nExIeES 320 0 320
OISBHSSAR 2X3 0IXt BHat
10,0002 100 0 100
OXIMZ2IAY BE3 OIF B8 20,0002 20 0 20
OXISIAILE FAHBIA HE3 01X Bt
200,002 200 0 200
2 Al - SHIZESEIE2 100 0 100
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